
Factores de Conversión 

1.-  8 kg →  g 

2.-  8 t →  kg 

3.-  7 g →  kg 

4.-  12 kg →  g 

5.-  200 m →  km 

6.-  2 cm →  m 

7.-  20 km →  m 

8.-  8 cL →  L 

9.-  10 mL →  L 

10.-  10 L →  cL 

11.-  20 L →  mL 

12.-  10 m3  →  dm3

13.-  10 cm3  →  dm3

14.-  10 m3  →  cm3

15.-  8 dm3  →  m3

16.-  10 L →  dm3

17.-  10 cm3  → m3

18.-  10 m3  →  L
19.-  10 m3  →  mL
20.-  10 dm3  →  L
21.-  10 mL →  dm3

22.-  10 cm3  → mL
23.-  200 mL →  m3

24.-  1.3
𝑔

𝐿
 →  

𝑘𝑔

𝑚3

25.-  6
𝑔

𝑐𝑚 3
 →  

𝑘𝑔

𝑚3

26.-  8
𝑚𝑔

𝑐𝑚 3  →  
𝑔

𝑚𝐿

27.-  10
𝑔

𝐿
 →  

𝑘𝑔

𝑚3

28.-  20
𝑘𝑚

ℎ
→ 

𝑚

𝑠

29.-  20
𝑚

𝑠
→ 

𝑘𝑚

ℎ

30.-  20
𝑐𝑚

𝑠
 →  

𝑘𝑚

ℎ



Soluciones 

1.-  8 kg →  g 

m = 8kg
1000g

1kg = 8000g = 8 · 10ଷg 

2.-  8 t →  kg 

m = 8t
1000kg

1t = 8000kg = 8 · 10ଷkg 
3.-  7 g →  kg 

m = 7g
1kg

1000g = 0.007kg = 7 · 10ିଷkg 

4.-  12 kg →  g 

m = 12kg
1000g

1kg = 12000g = 1.2 · 10ସg 

5.-  200 m →  km 

L = 200m
1km

1000m = 0.2km = 2 · 10ିଵkm 
6.-  2 cm →  m 

L = 2cm
1m

100cm = 0.02m = 2 · 10ିଶm 
7.-  20 km →  m 

L = 20km
1000m

1km = 20000m = 2 · 10ସm 
8.-  8 cL →  L 

V = 8cL
1L

100cL = 0,08L = 8 · 10ିଶL 
9.-  10 mL →  L 

V = 10mL
1L

1000mL = 0,01L = 10ିଶL 
10.-  10 L →  cL 

V = 10L
100cL

1L = 1000cL = 10ଷcL 
11.-  20 L →  mL 

V = 20L
1000mL

1L = 20000mL = 2 · 10ସmL 

12.-  10 mଷ  →  dmଷ 

V = 10mଷ 1000dmଷ

1mଷ = 10000dmଷ = 10ସdmଷ 
13.-  10 cmଷ  →  dmଷ 

V = 10cmଷ 1dmଷ

1000cmଷ = 0,01dmଷ = 10ିଶdmଷ 

14.-  10 mଷ  →  cmଷ 

V = 10mଷ 1000000cmଷ

1mଷ = 10000000cmଷ = 10଻cmଷ 
15.-  8 dmଷ  →  mଷ 

V = 8dmଷ 1mଷ

1000dmଷ = 0,008mଷ = 8 · 10ିଷmଷ 

16.-  10 L →  dmଷ 



V = 10L
૚ܕ܌૜

૚ۺ = 10dmଷ 

17.-  10 cmଷ  → mଷ 

V = 10cmଷ 1mଷ

1000000cmଷ = 0,00001mଷ = 10ିହmଷ 

18.-  10 mଷ  →  L 

V = 10mଷ 1000dmଷ

1mଷ
૚ۺ

૚ܕ܌૜ = 10000L = 10ସL 

V = 10mଷ ૚ۺܓ
૚ܕ૜

1000L
1kL = 10000L = 10ସL 

19.-  10 mଷ  →  mL 

V = 10mଷ 1000dmଷ

1mଷ
૚ۺ

૚ܕ܌૜
1000mL

1L = 10000000mL = 10଻mL 

V = 10mଷ 1000000cmଷ

1mଷ
૚ۺܕ
૚ܕ܋૜ = 10000000mL = 10଻mL 

20.-  10 dmଷ  →  L 

V = 10dmଷ ૚ۺ
૚ܕ܌૜ = 10L 

21.-  10 mL →  dmଷ 

V = 10mL
1L

1000mL
૚ܕ܌૜

૚ۺ = 0,01dmଷ = 10ିଶdmଷ 

V = 10mL
૚ܕ܋૜

૚ۺܕ
1dmଷ

1000cmଷ = 0,01dmଷ = 10ିଶdmଷ 
22.-  10 cmଷ  → mL 

V = 10cmଷ 1dmଷ

1000cmଷ
૚ۺ

૚ܕ܌૜
1000mL

1L = 10mL 

V = 10cmଷ ૚ۺܕ
૚ܕ܋૜ = 10mL 

23.-  200 mL →  mଷ 

V = 200mL
1L

1000mL
૚ܕ܌૜

૚ۺ
1mଷ

1000dmଷ = 0,0002mଷ = 2 · 10ିସmଷ 

V = 200mL
૚ܕ܋૜

૚ۺܕ
1mଷ

1000000cmଷ = 0,0002mଷ = 2 · 10ିସmଷ 

24.-  1.3 ௚
௅

 →  ௞௚
௠య

݀ = 1,3
݃
ܮ

1݇݃
1000݃

૚ۺ
૚ܕ܌૜

1000݀݉ଷ

1݉ଷ = 1,3
݇݃
݉ଷ

݀ = 1,3
݃
ܮ

1݇݃
1000݃

ܮ1000
ܮ1݇

૚ࡸ࢑
૚࢓૜ = 1,3

݇݃
݉ଷ

25.-  6 ௚
௖௠య  →  ௞௚

௠య 

݀ = 6
݃
ܿ݉ଷ

1݇݃
1000݃

1000000ܿ݉ଷ

1݉ଷ = 6000
݇݃
݉ଷ = 6 · 10ଷ

݇݃
݉ଷ

26.-  8 ௠௚
௖௠య  →  ௚

௠௅

݀ = 8
݉݃
ܿ݉ଷ

1݃
1000݉݃

1000ܿ݉ଷ

1݀݉ଷ
1݀݉ଷ

ܮ1
ܮ1

ܮ1000݉ = 0,008
݃
ܮ݉ = 8 · 10ିଷ

݃
ܮ݉



݀ = 8
݉݃
ܿ݉ଷ

1݃
1000݉݃

1ܿ݉ଷ

ܮ1݉ = 0,008
݃
ܮ݉ = 8 · 10ିଷ

݃
ܮ݉

27.-  10 ௚
௅

 →  ௞௚
௠య

݀ = 10
݃
ܮ

1݇݃
1000݃

૚ࡸ
૚࢓ࢊ૜

1000݀݉ଷ

1݉ଷ = 10
݇݃
݉ଷ

݀ = 10
݃
ܮ

1݇݃
1000݃

ܮ1000
ܮ1݇

૚ࡸ࢑
૚࢓૜ = 10

݇݃
݉ଷ

28.-  20 ௞௠
௛

 →  ௠
௦

 

ݒ = 20
݇݉
ℎ

1000݉
1݇݉

1ℎ
60′

1′
60′′ = 5,5

݉
ݏ

ݒ = 20
݇݉
ℎ

1000 ݉
1 ݇݉

1 ℎ
3600′′ = 5,5

݉
ݏ

29.-  20௠
௦

 →  ௞௠
௛

 

ݒ = 20
݉
ݏ

1 ݇݉
1000 ݉

૟૙ ࢙
૚ ࢔࢏࢓

૟૙ ࢔࢏࢓
૚ࢎ = 72

݇݉
ℎ

ݒ = 20
݉
ݏ

1 ݇݉
1000 ݉

૜૟૙૙ ࢙
૚ ࢎ = 72

݇݉
ℎ

30.-  20 ௖௠
௦

 →  ௞௠
௛

 

ݒ = 20
ܿ݉
ݏ

1 ݇݉
100000ܿ݉

૟૙ ࢙
૚ ࢔࢏࢓

૟૙ ࢔࢏࢓
૚ࢎ = 0,72

݇݉
ℎ

ݒ = 20
ܿ݉
ݏ

1 ݇݉
100000ܿ݉

૜૟૙૙ ࢙
૚ ࢎ = 0,72

݇݉
ℎ
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